A
P Calculyg BC Chapter 8 (8.1 - 8.5)
Short Answer

. Find the indefinite integral | 3x cos 87x”dx.

Find the indefinite integral j L dx.
:/ 8—10x—x’

3. Solve the differential equation (25 +tan2x)y' = sec’x.

4. Find the indefinite integral.

2
Ji5 o

5. Find the indefinite integral.

j%—;dx

6. Find the indefinite integral.

s
‘[«/1+5s as

Period: Date:

ID: A



Name:

7.

10.

11.

12.

Find the definite integral.

;r/S

jx cos Sxdx
0

Find the indefinite integral.

I sin> 4x cos* 4xdx

Find the indefinite integral.

I cos’38

dé
/sin38

Find the indefinite integral.

_[ sec’ 3xtan 3xdx

X
Evaluate I04 28tan’ xdx.

Find the indefinite integral by making the substitution x = 2sin 6.
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ng 4-x°
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18x — 162

5 dx.
x“—-18x+81

13. . .
Use partial fractions to find the integral I

2
14. Use partial fractions to find the integral I &_?4%‘;_1@
X+

15. Find the indefinite integral.

I cos> Sxdx

X

16. Use substitution to find the integral J' 2 £ dx.
(e +1)(e*-7)

dx.
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AP Calculus BC Chapter 8 (8.1 - 8.5)
Answer Section

SHORT ANSWER
1. ——sin8m’+C
T 167

2. arcsin X+ +C
/33

3. y=%arctan[tanx]+c

5

2
4. %+7x+49ln|x-—7I+C

5. —8(x2-2x+2]e"+c

2(5s=2)~l5s+1
75 +C -

6.
2
[T
1 (4 2 ) 5
8. 140 (7 S5cos“4x|cos’4x+C
2 sin39(5—sin23e]
9. +C

15

1 s
10. 15scac 3x+C

V.4
11. -[04 28tan’xdx = 14(1-In2)

A 4-x?
12. &
13. 9lnjx—-9|+9nx-9|+C

+C

14. 8lnjx| +% m(ﬁ + 16] +arctan[§] +C

sin5x(3-—sin25x)

15. 15 +C

16. I ( E dx = 1(1)0 (21n|e" —7| —lnlez" + ll - 14arctan(e")] +C



